2.13 Unit 2 Review: Graphing Trig Functions & Sinusoidal Modeling
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77 State the requested characteristics of each function. Graph at least one period of the function.
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Write two functions for each graph using the specified functions.
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5. Using sine:

Using cosine:
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Using cosine: (4: Cos z/ 2 -Tf)
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7. Using tangent:

Using cotangent:
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8. True or False, and explain why: Every sine function of the form y = asinb(x — ¢) + d can
also be written as a cosine function of the form y = acos b(x —¢) +d.

T;M siNee 4?4»67 EHTMe (:uJ Sing ’ﬁna‘mf AR S‘Ai"f"%icp Va3 0~ 0{
/
ga-pQ other
# cos(6)= Sirs(@'f-n/;)

9. True or False, and explain why: The period of f(x) = cos 86 is equal to four times the period
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10. True or False, and explain why: If x = 6 is an asymptote of y = cscx, then x = 6 is also an

asymptote of y = cotx. i
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11. How many zeros does y = cos 15006 have on the interval from 0 < 6 < 2n? 1y v R TR
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